
Manufactured by Rhino Products Ltd in the United Kingdom

Expert/Dispatch/ Proace 2016- Outrigger Fitting KitSSK025_a

FITTING INSTRUCTIONS
( 1 of 3 )



13mm x 1 

FB006 (M8 x 30) x FS082 (M12 x 45) x

FW029 (M12) x

FN006 (M8) x

FW021 (M8) x

FW026 (M12) x

4 4

4

4

8

8

4FW020 (M8) x

FITTING KIT CONTENTS FK903
                (1:1) FITTING TIME:  20 Minutes

19mm  x 1 

x 1

13mm x 1 

ACCESSSTEP
IMPACT STEP

Manufactured by Rhino Products Ltd in the United Kingdom

Expert/Dispatch/ Proace 2016- Outrigger Fitting KitSSK025_a ( 2 of 3 )

1. 2.

FITTING INSTRUCTIONS



FW029

FW026

FS082

M8

M8

M8 x 30

M8

Manufactured by Rhino Products Ltd in the United Kingdom

Expert/Dispatch/ Proace 2016- Outrigger Fitting KitSSK025_a ( 3 of 3 )

1. 2. 3.

4. 5. 6.



Manufactured by Rhino Products Ltd in the United Kingdom

Expert/Dispatch/ Proace 2016- Outrigger Fitting KitSSK025_a

IMPACT STEP FITTING INSTRUCTIONS

( 1 of 4 )



FB006 (M8 x 30) x FS082 (M12 x 45) x

FW029 (M12) x

FN006 (M8) x

FW021 (M8) x

FW026 (M12) x

4 4

4

4

8

4FW020 (M8) x

x 1

13mm  x 1 

13mm  x 1 

FITTING KIT CONTENTS FK903
                (1:1) FITTING TIME:  40 Minutes

19mm  x 1 

x 1ACCESSSTEP
IMPACT STEP

ACCESSSTEP 8
IMPACT STEP 4

Manufactured by Rhino Products Ltd in the United Kingdom

Expert/Dispatch/ Proace 2016- Outrigger Fitting KitSSK025_a ( 2 of 4 )

1. 2.

FITTING INSTRUCTIONS



FW029

FW026

FS082

M8M8M8 x 30

Manufactured by Rhino Products Ltd in the United Kingdom

Expert/Dispatch/ Proace 2016- Outrigger Fitting KitSSK025_a ( 3 of 4 )

1. 2. 3.

4. 5. 6.



Manufactured by Rhino Products Ltd in the United Kingdom

Expert/Dispatch/ Proace 2016- Outrigger Fitting KitSSK025_a ( 4 of 4 )

7. 8. 9.

IMPACT STEP FITTING INSTRUCTIONS

10.


	Sheet1
	Drawing View28

	Sheet2
	Drawing View26
	Drawing View27

	Sheet3
	Sheet4
	Drawing View4
	Drawing View20

	Sheet5
	Sheet6
	Sheet7
	Drawing View32
	Drawing View33

	Sheet8
	Sheet9
	LA194.pdf
	Sheet1
	Drawing View1

	Sheet2
	Sheet3

	FK1001.pdf
	Sheet1
	Drawing View1

	Sheet2
	Drawing View2
	Drawing View3

	Sheet3
	Sheet4
	Sheet5


